[image: image1.jpg]W cominE=s rE—a,





[image: image2.jpg]M~ = @ N0 64% @ 1:17

B_HImER

BN ooEmtgE—s rEoa,





[image: image3.jpg]U8 2022mEiKETHA TE=4)





[image: image4.jpg]A

2022HIAHE
FEEPU4a,

i
£ =

ERTENEERR

HIB7RM (BA1BA) B,

%




[image: image5.jpg]Wl FERE T 13:08 @ 9 28% @ )

< BR_#HBERA

= 2022mHEiHE—HA
¥ g4,

T 437 RA (BA1H

HI) B, EFMHNIGER





[image: image6.jpg]I 2022mniEE HE [SE N4 ]





[image: image7.jpg]all4sc @)

13:23

TR

B

ZHAsEtEA

2022HiXE

=2

EITHNBERR




[image: image8.jpg]2022 EiINE_HY T8E/\4A,

ZHIE7RA(BRI1ERE) B, EFHENBER





